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Table - 1 : Disease - wise Percentage of Patients in the world.

aﬁw-l:maﬁﬂﬁﬁmﬂn-aﬂgﬁml
Heart Disease/g&a Ut | AIDS/ugd TB/dufes }-Iepatitis/qgaqhﬂ Kidney Disease/qiﬁﬁﬂﬂ m
e Details of all Patients and Kidney patients.

Table - I : Continent - wis

mﬁw-n;mﬁﬁﬁwﬁaqﬁfrﬁrﬁﬁnﬁ@v—aﬂwl
Percentage Distribution of /ufarera faamm j

SR All Patients/@wea it | Kidney Patients/dFh Tt
Europe/ZlM 10% 10%
Australia / e 6% 5%
South America /aféofl =T 15% 40%
Africa/ 3THTeT 25% 10%
North America/3afl 31 12% 15%
Asia /URHA 32% 20%

increases by 10% every year in Europe, then whatis the difference between the number

1. Ifthe number of patients
two years and the number of Kidney patients in South America in 2023 ?

of patients in Europe after
(1) 8lakh 2) 9lakh @) 7lakh @)  5lakh

qﬁvﬁmﬁfrﬁﬁaﬁﬁ@nﬂuﬁaﬁw%ﬂﬂqﬁ?ﬁﬁ%ﬁlaaﬁmﬁ # JfEi  wen F eyt
syortieR i g T 3 Wi o o S R € 2 ™ i
1 s@@ @ 9@ @) 7@ @) 5@

2. If the number of hepatitis patients in the world i '
; increases by 6% and that of heart disease in '
! ] : G crea 22%
what will be the new ratio of number of hepatitis patients to the number of heart disease patiens;:?r':) {h:e_\;n(; tin'le ?
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If the number of Kidney patients in South America decreases by 25%, then what is the percentage decrease in the
number of Kidney patients in the world ?

afe afiyoit sprdtat A gae AfiE it =5en | 25% it Bt 2, i farea H et gern At A Ez A 3 e F
st ?

mn 4% @ 8% (3) 10% @ 5%

What is the ratio of the number of patients in Africa to the total number of Kidney patients in Asia and North
America together ? ;

STt 3§ DT S S i e S sy = PR el 3 ok M o we & A A R % 7

M  3:1 @ 21 @ 49:22 (4 50:21

The number of Kidney patients in Australia is approximately of the number of patients of heart
disease in the world.

s e § g A #i G fava ¥ wa A St Fen H 1l

(1) 6.01% (2 6.82% () 5.49% (4 7.85%

Arrange the following fractions in increasing order :

1u i % a0
SNy - E SR 19
o for=ti =1 e A H STt Hite |
. . 1 & = AR15

17 S 5 | 9 - 19
Choose the correct answer from the options given below :
3 form T Feredi R TA ST B S FIC :
1 CABD @ CADB. (3 ADCB @ B,CAD

Which of the following statements are correct as per Classical Indian School of logic (Nyaya) ?

A Nyayasyllogism has three propositions. B.  Nyayasyllogism has five propositions.
C Nyayasyllogism has three terms. D.  Nyayasyllogism has five terms.
Choose the correct answer from the options given below : _

(1) Band D only (2) BandConly (3) AandDonly (4) AandConly
e e = A STER Frefared § ¥ i S For wh ¥ 2

A = - EErEE H i e ad e | B. = - =geed H yie Wiawraal s €1
c = - =EaEE d §E e e € D. M- FHaEE H " g e #
ra fzm 0 famedl § 9 W ST B T B :

(1) #FAABFMD () FEABIRC @) FAAASND  (4) FawARC
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- 8 It (L)yq representsa pumber L in base - M number system, then identify the corres i A i 13
- aumbers A-D, when converted toa base- 10 number system 10001101
X : C (260), Bf, ! 2
. A \M““. B (2'2)3 ! ) o 'r"h if » rietfrt e AT r
3 -\t e g 7 (L) T L A Frefi i &, S S 10 HE@ 75
= A Prfafaa dens A-D ¥ T s w i FafEa F —
== v (5B)y B (212) C  (260); D. 2
= Choose the correct answer from the options given below :
ﬁmmﬁﬁﬁﬁﬁwﬁmﬂwﬁﬁq: e
- 1 BACD @ D,CAB @) ABCD @ B
9. Which of the following statements are true e B
A Truthand falsehood are attributes of individual propositions.
B.  Validity cannever apply toany single proposition by itself.
C  Inavalid argumentall of its premises have to be true. |
D. A valid deductive argument cannot have all true premises and a false conclusion.
Choose the most appropriate answer from the options given below :
(1) A,BandDonly @ AandConly
3 A CandD only (4) CandD only 14
Fretfeifan § | FF 9 HUT A € 2
A e S sEe sty 6 e
B. %ﬂmmﬁaﬁaﬁﬁﬁaﬁmuﬁaﬁ%fﬂqwqﬁfaﬂwm%l
@ éaﬁﬁmwmmmmm%l
3 D. w%ﬂﬁvmmgﬁaﬁnﬁmwmqﬁﬁﬁﬁﬁmﬂﬁ%m%l
3 Fw T formedl H & AR SUGE S B A HI :
(1) FawA,BRD @ FEEARC
@ Fa@A,C3IRD @) Fa@CARD ]
10. A 500 m long train running at a speed of 100 m/s crosses a tunnel in 10 s. Whatis the length of the tunnel ?
(1) 200m 2 500m @) 800m ) 1000 m
F 500 HiZL T4l el 100 et/ s F | T g TH GO A 10 TS W A FTA T F TR : fpt
27
(1) 200H (2) 500 (3) 800 HX @ 1000 HR
11.  Which of the following is an ancient Indian treatise on problems related to Mathematics ?
(1)  NysyaSutras (2)  Lilavati 3) MimamsaSutras (4)  Pramanavarttika
wfora 7 TAfaE gEEnE W arEE wRdE 1 freafaten § | @6 W e
@ T (3} TR (3) () S
12, A culture which is not touched by communication of alphabetic writing is known as a culture of -
1)) Imeaty- ¥l (2 T)tpography (3)  Exclusivity () Primary Orality
e A % wan A P e wepta fra d | e weRfa & s ko
() wwEa 2 wen
@) ¥ () s ) wefee S
4

017




14.

Match List - Twith List-11
List -1 {College)
A\ Poona College for Hindu Learning

List - 1 (Founder)
Iy Alexander Duff

B Hindu College, Kolkata (Presidency College) IL M. Elphinstone
% Bishop College, Sibpur 11 Rajaram Mohan Roy
D Scottish Missionary College, Kolkata [v. Churchof England
et - 1 % e e - 1 e i |
it - 1 ( Wt ) el - 11 (HEaTIeh )
A Y wies R fEg @ L ISl Eh
B feg wiers, el (St FHierst) L U R
c  faum wie, fEem oL A e
D, wHifes PSR ST, Hierhl v, SRS =
Choose the correct answer from the options given below :
3 fr U fashed H Q WE S = HIT ¢
(1)  ALBI,CIILDIV @)  ALBILCIV, DL
(3) AJLBIV,CGLD-I @) AIV,BIL C-11, D-IIT
What is the correct sequence (from lower number to higher) of the following related to Sustainable Development
Goals (SDGs) ?
A, Number of Publications B. Number of Goals
C. Numberof Targets D.  Number of Indicators —
e Tae e (TE 2 o) @ gafta Frfared i (firet s 3= % FH H) TE FHHH T ?
A TEEH w EE B, o () N HEA
c @i (IiEd) S " e D.  Hawl sl e

Choose the correct answer from the options given below :

3 fer T faered] B @ WE SOX H AT FHIC :

(1) ABCD @ BDCA (3 'BCDA @4 CBAD
Which of the following are the National Coordinators appointed for SWAYAM courses ?

A Indian Institute of Management, Bangalore (ITMB)

B. National Programme on Technology Enhanced Learning (NPTEL)

(& National Institute of Open Schooling (NIOS)

D.  Block Institute of Teacher Education (BITE)

E. Consortium for Educational Communication (CEC)
Choose the most appropriate answer from the options given below :

(1) BandDonly (2) C, DandEonly

(3) A, BandConly (4) A, B,CandE only

fmferfiaa § 4 #H waH T tq FRR R T e e € 2

A VAT yaRHA FEIH, AT (S S T o)

B e Hafda s gaHt T FEEE (T 98 S )
T A Tl FEAT (T S 1 uH)

D AT e " s we (e 3 E)

p e wam &g 59 (4 S )

419 fan 70 fagedl § A WEH I9GE I FHT 997 HIOC :

(1) FAAB AD (2) FHEAC,D INE
() FAAA,B A () FEARA,B,C3fE
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Match List - I with List - 11

List - I (Internet Protocol) List - 11 (Internet Activity)
A e l. Sends email through the Internet
B. SSl, 11, Encrypls data for online transmission
(@ SMTTP . SendsTCP/IP packels to web server
[DSSIE]e IV.  Transfers files over the Internet
I - 1 % e =i - 1 e i)

et - 1 ( §=Te Wietehie ) elt - 11 ( g2 ey )
A, HTTP (T= & & 1) L e ¥ g g e Uit s g
B.  SSL (U® U¥ UH) 0 sieTE Gew ¥ o S Feag i €
C.  SMIP (T@ @ & i) o ey e R e e S
D.  FIP (U% ¢ ) V. Zetie T hiEel i Siard i ¥

Choose the correct answer from the'options given below :

i fou o fasedi # | WE S H TG i

(1)  A-IV,B-OI,C-II, D-I (2)  A-LB-LCIV, D-II
(3)  A-LB-IV,CII, D-I (4  AILBILCL D-IV

Which of the following statements is logically equivalent to the statement -
“No cats are non-feline.” ?

(1)  No felines are cats. (2)  Allnon-cats are feline.
(3)  Allcats are feline. (4)  Allfelines are cats.
Frpaferfd Fori § § B mEe - ot foreett TR-faeret T &' 6 wHged €2
@ i o fae fafeear 78 € @ Wi iR-fafeemt faem €
@) @ fafeml faem € @ -\t foeme fafeem €1
The systematic elimination of extraneous variables other than those you are interested in can be achieved in:
(1)  qualitative research (2)  correlational research
(3)  experimental research (4)  longitudinal research
TR B ATe T O 3o e = 5 gegate fee e | e ura TR s v R 2
(1) 7O e (2) e HaHl Ay
@) WEREIE @ e Y
Identify the correct sequence of the cycle of self-regulated learning.
A.  Enacting Tactics and strategies B.  Devising Plans
C.  Setting Goals D.  Regulating learning

E.  Analyzing the task

ATt sfrmd = o HEl SThH il U8 hifei |

A Torifadl ud srHifaE @ afufems B A e

c.  @e-fu D.  afferm frem

E. -

Choose the correct answer from the options given below :

#ir% fe 10 et 3 4 T I T T HI ¢

(1) D,BCAE (2 CD,BAE 3 ECB,AD )

A,B,C,D,E

20.

21.
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Around 1945, whao developed the idea of a stored program compu ter that was to hold programs and data n a

memory and then data would move between the memory and the processor ?

() Alan Turing (2)  Tim Berners - Lee

(3)  Charles Babbage (4)  JohnVon Neumann

o 1945 3 ST T v e o fereim e fereR o e s e 3t 27 1 FET H S = A
fipT 2Te1 AT ST uEER % it Sefed 2 ?

(1 A @ fou -

(3 e A OV i i L

Which of the following statements about computer memories is correct ?

(1)  HDDs may experience a *‘head crash’”.

(2) SSDsarealso known as volatile memory.

(3) HDDsdonot have any moving parts.

(4)  Compulers usually have more primary memory than secondary memory.

e W o we i frefatEa we § 9 P 9w e ?

1y TEEEH T EN @ HE@ L

@) T T 2 Ay BE % = o e S e

@ TS i o e A g

@) mﬁmzmw#@mmmmm%l

Which digital platform of Ministry of Education has been formed by merging three consortia initiatives, namely
UGC-INFONET Digital library consortium, NLIST and INDEST-AICTE consortium ?

(1) Shodh Ganga (2) eShodhSindhu (3) E-Vidwan (4)  Shodh Shuddhi

eI mﬁzﬁﬁmmﬁﬁﬁﬁﬂﬂ,ﬁmaﬁwaqﬁmmﬁé@ﬁ—qﬁﬁﬁémﬁmw
Tl 1 i T 1 freER e W g S fefoee w ff fw e

@) W @ Evim fay @) 3-TEEm @ T Afs

Match List -1 with List 11,

List - I (Communication form) List- II (Description)

A.  Personal address L Sequential accounts told and retold from a particular viewpoint
B.  Social drama I.  Subjecttoacommunity’s rules forappropriate conduct

C.  Narratives M. Points to self and others in interaction

D.  Silence IV.  Invokes local socio-cultural rules for behaviour
qﬁ_]#mnqﬂ-llmﬁaﬁaﬂml :

- 1(HA B ) et - 11 ( Ferazor)

A i FEEA L U fovm gfiesm § swiae gur/ Furel 1 S o SREn Fe
B. IS AH I HyfEd e e Sreras Fam & e

C. e m sl H = F =0 i SR 3 w5

D. WA V. oEen & AHisis- S s TTami F1 EeH S e |
Choose the correct answer from the options given below :
19 feu 7o famedi B | W& I F T HIW ;
(1) A-LBHILCIV,D-I (2) . A-LB-LC,D-IV

(3)  A-ILB-IV,C-L D-II 4) ALV, B-ICI,D-II




26.

27.

?
hich of the following computer devicesare output Llevicesqt""',\' Number pad p.  Plotter

3 IIIII“-I‘ L 8 (‘Rr n"nnil.nr. JIO\‘\' . 4) B and D On!y
Choose the correct answer from the options 5'“:; 5 3 C and p only (

1 A and B only 2 A,BandDon “ 259
:-I:--ﬂvlf{ﬂﬂ i am({; fferrl e ST (et gﬁaﬂl; ; p. WX
A 3w B R & A =
A9 f u femedt B B e A€ 1 = HO: kD @ #ad B 3D %
() FEa A st B @) el A,BIRD () ol ' :
Which of the following are true about Solar Thermal Energy Collectors (EEEEN
A. Basic Unit of STEC is a solar cell.
B.  STECsmay be Flat plate or concentrating tyPe:
C. Tempera ll)l,l‘e in S"IEIECIZS m:y rise over thogusand degree centrigrades. 29
:Z) ?‘11 :Cb;:::l[: ios‘ljmi{:lzl:t:: ::31 example of STEC where temperature can go upto 2000°C.
Choose the most appropriate answer from the options given below :
(1)  AandDonly @ BCD and Eonly
(3) A, B,CandEonly @ ABCD and E
R ardr Tt T (ww @ ) ¥ et 1 T 2
A AL F T 3 G 9 €
B. Q’Hﬁiﬁﬂqﬁ@?mﬁﬁ?ﬁﬁm#’@lm%l
c Wﬁéﬁﬁwmﬁm’fﬁuﬁﬁs#mmm%l

3

D\ ¥ for Sened L wEHA €
E TeerEsR aved (demeras o) FTTR, T2 3 w1 % U SeTedl ¢, freH qraH 2000°C T ST SFa 8|

) ferw T ferehe & e SUFER I ol FAT T :

(1) A A IRD () FF@B,C,D #RE
(3) FAAA,B,CIRE @) AB,CDS3MRE
Arrange the following sections of a research dissertation in correct sequence.
A Acknowledgement B.  Research Methods
C.  Discussion ’ D.  Literature review
Wiy sy 3 F STl 1 e e et i ;
A s B. v fafuei
c foom-foms D.  Wifed Heten
Choose the correct answer from the options given below :
19 feu T fasedl & @ WE ST 6l T Firog o
(1) A,BCD (2 BDCA OLB) DB CcaA
s @ ADBC
8
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27.

28.

29.

30.

“1 hilieve ['will do well in this class,” Ram declared to his brother. “I received a perfect score on the verbal part of
the _A:"{,‘aml | I.m\‘w always excelled in my literature classes.” Ram is demonstrating which of the following ?
(1) 13[1 seli--es-h.mn . (2)  High levels of emphathy
(3)  Highself-efficacy in literature (4)  Low self-efficacy in literature

ﬁnm?ﬁmmﬂ = FE, " T ST E B FAr | uE U A A afmE am #5316
gT:a T ST Hifeed fawe w1 wensii H Sepe o v fen ) T frefatea #§ 3 20 i w2 @
(1) 5 AH-GHA (2) = W Ty
(3) Eifeca T I - &7 @) e § o - e
A sum of ¥ 50 is divided among A, B and C i

. : n such a way that A gets T 5 less than B, and B gets

T 10 less than C. What is the ratio of their money share ? i ’

?WﬁWWﬁA,B 3T C 1 70 W St T R FF A, B §T 5 U ¥ 3R B, C €T 10 FH A E | TR
fryeft Tf¥rl =1 ST e © 2

(m 1:2:3 @ 2:3:4 @) 1:2:4 (@) 2:3:5
Identify the Forrect sequence from (earliest to latest) of the universities established in the early years of the twentieth
century India

A.  Osmania University B. Aligarh Muslim University

C. SNDT Women's University D.  Nagpur University

E.  Patna University

e ST S ¥ S ] 1 et fawa e 51w SR (T & T wqw

A I faefeEeE B. e qrcm foxaferre™

c  T™UA Sl 3 Aieen favafanea D. R favafEeEeE

E e favafaenea

Choose the correct answer from the options given below

3 fen T faeedl H | WE IW H 9 HO :

() EAGCBD @ CEABD @) D,ACEB 4 ADEBC

Identify the list of 4 quadrants of the courses hosted on SWAYAM -

Self-assessment tests

Video lecture

Online discussion forum for clearing the doubts

Specially prepared reading material that can be downloaded/ printed

Face-to-Face interaction among learners .
the options given below :

moNwp

Choose the most appropriate answer from
(1) A,B,DandEonly (2) A,B,CandD only

(3) C DandEonly (4 CandEonly

T T ST TR o 4 S 1 e e

A E-TEEiH G

B. difedl A&

C vigei i fraw vy siers faem-fan 5
mﬂmﬁwmﬁﬁ?ﬁ?ﬂ@vgﬁﬂmwm%

D.
E. SR & WA SEA-HT o ST
ﬁ%ﬁqmmﬁﬁﬁwﬁmﬁmﬂwﬁﬁq:
(1) %@ A,B,D ARE () FadA,B,C3IRD
() #a@C, D ARE (@) aaC SRE
9 017
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jon' p.  Beastof burden

Arrange the following in order of increasing connotat c. ~ Horse

A Domestic Animal B, Animal

ﬁwﬁfﬁaaaﬁagagunwmﬁmﬁmﬁm: . p. W @M A
A W B T

Choose the\:?nect answer from the options given below
ﬁmmﬁﬁﬂ%uﬁmmwaﬂm= AD.C @ CDAB

1) GCD,BA @ BACD () it

A f:
In Buddhist thought, self-reflexivity, is builtitto the Pf‘{:efsjs ange
(1)  Power relations ) Religlo

@) Verbal communication 4) Politicisation
g fammem d mﬁmﬁqﬁﬁmmﬁuﬁféﬂ%?

() s gey 2 e gfead
(@) W< AR @) TRl

; ?
Which of the following statements are fruc regarding Macaulay ¢ o itve langage
A Hesucceeded in replacing Persian with English as the administra guage.

B.  He promoted training of English Speaking Indians as teachers.
(& He was inspired by Utilitarian ideas.
D.  Hepromoted “useful learning”. -

Choose the correct answer from the options given below :
(1) AandBonly () BandConly @ AandC only 4) A, B Cand D

St 35 ] & Pt el 3 8 2 o W €2

A muﬂmﬁﬁm%mﬁmﬁaﬁﬁﬁﬁuﬁwﬁﬁmﬁmﬁl
B v Fwe 3w H SIS e A T 35 e 1 e o6 |
¢ A AT
b s Y e B

@ F@ashs @ FEBA @) ¥@ARC (4 ABCSRD

The Gross Enrolment Ratio (GER) measures the number of A )
of the eligible population aged between.: of students enrolled in higher educationasa percent
(1) 18to24years (2) 19to25years @) 18t023

f ' s (4 17 to 23 years
gmwﬁrﬂwm(@ﬂ#m) o S ¥ R T = ¥y § v d A 3
e AT ? ﬁﬂ!mﬂqﬁﬁﬁﬂf&ﬂﬁ‘i

@ AT @ VIBTOH @) BInT

o 4

Which one of the following is an extremely shortlived and unstable / @ 17¥3w
(DS I~ e e air/water pollutant ?

(3) Persistant Organic Pollutants (POPs) ... 24; Volatile Organic Compounds (VOCs)

fefefad § 3 FHA-H Haifu® FH qHY T6 W - Polycyclic Aromatic Hydrocarbons (PAHS)

(1) 7 (9 FE) M 0 RLVARR e ¥
@) o vt g (3 W) (SO @ T Fifren ahfiras (<t ot )
T T (0 )

10 o

A oNP P

ad o



30.

37.

38.

Match List - I with List - 11.
List -1 List-II

(Threats to Internal Validity) (Description)

When participants’ behaviour changes as a function of
having been tested previously

Il When some event outside the research project affects
participants systematically

I Occurs because of shortor long term changes in a participant
v

—

A Maturation threat

B. Attrition threat

< History threat
; because of psychological changes like boredom, fatigue etc.

D.  Testing threat When participants drop-out of a study, leading to a change
in the nature of the sample

eI - 1 3 e G - 11 1 7o i

et -1 ( afteh Juer 3 @y ) it - 11 ( faaoT)

A ORESEH @Al L v gd § wdee & g & v o6 w9 § s
SR i 2l € |

B. &V G [ o i OREE & A F RS g Wl et
G e T €l

C  3foem @l M % S, e 3T SR A SR & heraes g
3 g STerHITe 1o e aeee o o g ¢ |

D. WRUIE WV, W v 3 s B X & fah s s 5
Yof  Seara B Sl € |

Choose the correct answer from the options given below :

= feu 7o faeredl § © WE ST H1 99 FIWC

(1)  AIV,BILC DI (2) A-ILBIV,C-I,D-I

() AJLBILCII DIV (4)  A-ILBI,CIV,D-II

Match List - I with List - I1.

List-I (Words) List - II (Codes with same rule)

A BOLT L 52

B. RING IL. 50

(& SOLD Im 49

D. FROM IV. 48

it - 1 3 e Git - 11 1 e i |

et - 1( 912) e - 11 (T Frem A &6 s )

A BOLT L 52

B. RING 1L 50

C. SOLD m 49 .

D. FROM V. 48

Choose the correct answer from the options given below :

5 fow e faehcdl ® A W@ SW H A HGL:

(1)  A-LBI,CI,D-IV (2) ' A-LBIICIV, DI

3) A-IV,BIICLD-I (4) A, B-IV,CI,D-I

International Solar Alliance (ISA) is the alliance of countries most of which lie partially or completely -

(1)  Above tropic of cancer
(2)  Below tropic of capricorn
(3)  Between tropic of cancer and tropic of capricorn

(4)  Southern hemisphere

st R (o e ) e T8 S % W e s R S et w9 H steran qofeen fd © -

(1) wH-EH TR

@) HH-TE

() 1@ TE AR o A
(@) Pl Tend o

11
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g of observations:

ankin
uld allow T
Identify the scale/scales of measurement“'l“cBh o ordinal scale

A, nominal scale le 42
C  interval scale D. ;-atlo i @ A and B only
Choose the correct answer from the options given = 3 B only
(1) A BandConly (2 B CandDonly Eﬁﬁm Sk
T ey o i e it ford e B
B. Eureld
A IHeE HTg At
C  3fawel mroH D. e
=i i e foreei & 1 e e = A s @i e SNE
(1) ¥a@aABaRC (2 Fa@BCALD ()
Match List - I with List - I1. List - 11 (Examples)
List - I (Water specific diseases) Malaria
A Water borne diseases L
(Due to ingestion of polluted water) hi miasis
B. Water washed diseases L t0s0
(Due to lack of cleaning water) .
C. Water based diseases I Typhmd
(Due to contact with polluted water) choma
Water related diseases IV *Tracnom
(Due to habitation of disease causing
parasites in polluted water)
T - 1% W Gt - 11 7 e Hie |
it~ 1( et fafore 3T) R - 11 (JRTET )
A SE-Sif S 1 HerE
(WEfod STt & Sieev & HR) h &
B. S uifeq st L et
(TT=5 5iet 1 HH & HRI)
C I SMHIRa Sl O SR (TaFES)
(wEfira St & |9 H 3T & HRT) {J
D, i Heiferm st 00 v, S
(g STl & ARl S YS! &
& % HE)
Choose the correct answer from the options given below :
= feu U fashcdl § | W& IW H TG Hifo ;
(1) AJILBIV,CLDI (2)  A-ILBIV,CII, D1
¢) ALBICILDIV - (4)  AILBIV,CIm D
Which of the following refers to a sampling approach cture ; i)
observed for a set period of time ? (0'®) st dobservation whereby a sampled individus®
(1) Focal sampling @Y" | Snowball sa
(3) Purposivesam pling (4) Cluster sa.m:]};l;ng
Wﬁﬂﬁwﬁmﬂmmﬁ mm% ot
w3 fer Feor faRan < @ 2 = 0% 810 fevet St w2t 1@
(1) TR FfdE %554 e (e
Trre $J) ) Wi
@ U ) TR Wi
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42.

Employment of classroom technology needs clarity with regard to:

Al Instructional messages B. Course objectives
C. Technological competencies D.  Experience of failures
E. Institutional indolence

Choose the correct answer from the options given below :

(1) A, ,BandConly (2 B,CandDonly

(3) € DandEonly @ AD and E only

< ST 35 Sl 1 Pt 3 9 - ol ¥ STl ) STl 2t €2
A SERE TR B TISTHH e

C  diEnfirsE gaddE D. fameasl & S

E.  HEIW SERHvEa

#3 feu Tu Foedl & & WE ST o FIC :

1) FaAA,BIRC @ HaAB,CHARD
(@) HaaC, D 3IRE @) FacA,DAE

Which of the following are the characteristics of mass communication ?

A.  Homogeneousaudience (! 1=By '
C.  Immediate feedback D. Useofamedium
E.  Rapid transmission of messages

Choose the most appropriate answer from the options given below

(1) A,BandConly (@ BC ancl D only

(3) C DandEonly (4) B,DandEonly

fore 3§ SRR 8 A e € 2 |

A TS A _ B. @Htmﬁﬁmm
C e gy | D. wmwﬁn

g Hw o wEd Ju :
ﬁ%ﬁqnqﬁﬁﬁﬁmmgﬁmmwm:

(1) FadA,B#HRC (@) e B,C3ARD
(3) &aaC, D #ATE @) ¥=aB,D3RE
13
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44.

45.

Read

Which fallacy is committed in the following statement ?

Tarun cannot be guilty of murder since there is no way, Tarun cpul 1 ECREEE T fabr
(1)  Hasty Generalisation (2) Slippery Slope ?ilz;.
nd!
(3)  Begging the Question (4)  Inappropriate Authority
oot o 8 i T A e 7 =
“ . . " |
o T T A T B & i A A A e fo vt o AR | C
(1) AR "=l @@ foraer g g hi;
(3) SeEEA Y () g WEER =
i tc
Which of the following statements are correct ?
n
A. A man purchased an item at -g'of_ils selling price "X, and sold it at 5% more than "X'. His gain is 25%. f

B. A dealer professes to sell his goods at cost price but uses a weight of 900 g for a kg weight. His gain is
1119%.
9

C.  Ifloss is one third of the selling price, the loss percentage is 25%.

D. By selling 100 pens, a vendor gains the selling price of 20 pens. His gain is 20%.

Choose the correct answer from the options given below :

(1) AandBonly (2 BandConly (3) CandDonly (4) AandD only

frferad wodl § § S 8 FHYT T ¢ 2

A waﬁ%%ﬁraﬁmsﬁ#ﬁm{eﬂ‘r%%m@ﬂmam‘x*ﬁ5%afu$m€HM| T A
25% R 5T«
B. ﬁﬁﬁ&ﬁaﬁaﬁaﬁwq@mﬂaﬁmé@m%m@mm%mwommmm

FAI &1 SHH Y 11%% 7l

C  afz e fama ged @ w TR §, < Et wfoed 25% €|

D, T faskar 100 99 S=eRT 20 T S Torsha A o e T WIS T B | SR W 20% T
g faw 0 famed § A WE I H1 =TI Hifor :

1) FEAAMB () FEEBAC @) FWCHRD @) F=wasRD
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Read the following passage and answer the que_gﬁuns that follow (46 -50) s

fabri calzl;:‘r::ds Aﬁ Si“;‘gb'}‘ ‘“_;0“ semiconductor plant followed by recent approval to Tata Group and CG Power for

pipeline) are the beginn{r’u esfhng and Packaging (ATP) plants with an investment of ¥ 1,30,000 crore (and more in the

India. This will create a g of a transformational global supply chain shift centered around chip manufacturing in
multiplier effect on talented and skilled workforce inside India.

olis Indian. However, the need

In addition, there is also a huge

hich will be the largest beneficiary

It's a matte :
e sem;"cc: }:inde that almost one-third of the global semiconductor talent po
manpawer reqm:emzm“j}:{,;:‘"”kf"m? is estimated to be around 3,00,000 by 2026.
of this chip boom. ost six million in the electronics manufacturing sector w

The i :
current combined Science, Technology, Engineering and Mathematics (STEM) graduate output from India’s

higher education institutions is inadequate
policy path ways of the Ministries of

Th : : .
e growth is certainly going to come from the non-ITian orbit and the
for industry and academia to work

Electronics and IT i
Cpctter and Education converge to present bountiful opportunities

Thjs _i_n 1 s
dustry academia synergy was key to India’s software success story. Now a similar trifecta of government-

industry-academia is needed to make this a winning semicon trio.
Tt Tty SRt eaTgeeh Ufeu 3T SweR e U e Wyt & 9Y S ¢ (46 - 50)
2121 T AR F S F e o v, e sk et (42 ) T ¥ 3 1,30,000 S % A (3N

e P ST oTe &)  for arer & iret ST & a1 Wi 1 § 800 T T o Sefiehedet W H #

fafemion & ge-fird hfraa SO e SR S@en T 1 T 2| =@ e B wfqsmenet i Fee HE a9 W

TR WS B |

g 17 1 farwe & i Afveer eitehedet g ol i o O faer SR € qer
_ , AT & T 2026 9
Fefiereaet Hd a1 F1 YA T 3,00,000 B | maﬁﬁﬁ,mm%%mﬂﬁmiﬁﬁmﬁﬁiﬁ

&5 7§ T 98 THferE S S 9 STEvaed € |

A 3 v foven WA & Frerer ara) fagr, deifir, Soffredt oiv v (w2 € w) & EEenl 6 §YE we

I B |

77 gfg Fif¥ed ©9 § TR-gemEd! 8 W S 3R e & Yo drefest waerd o fen e & it =7

gl S SE @ ST WA 1 Y e HHH F 3 T ST Fe R €

T T TR S e § T | ST S 1 9 Sethdl 39E o | o At 0 ) forsR a

#mmmﬁm—m-mﬁaﬁmm%l 7

46.  As aresultof the chip boom, the requirement of workforce in the electronics manufacturing sector will :

(1)  remain unchanged (2) leadtojoblosses

(3) increase @) dra‘éﬁca]ly go down

ﬁn{q%qﬁmﬁmsﬁa@ﬁaﬁﬁﬁﬁmﬁﬂm'ﬁw:

()  FOfEfia @ et H e e
@ @ 4) W Tt S s
X 15
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49,

50.

The new talented skilled workforee in India will come mainly from:
(2) The Non-ITTian orbil

(1)  STEM graduates
Unskilled labour force

(&)] ThellTs (6]
mﬁﬁﬁuﬁuﬁﬁwmﬂag@wﬁﬂﬁﬂﬁ?ﬁm?
() WHIWEEH @ s &
@ IHEImIAWd @) AFUA FATA

India’s share in the semiconductor global talent pool is:

(1)  Two-thirds (2)  One-third (@) Three-fourths (4)  Onefifth
Frirsheae & afvas ufaw 9a | wwﬁwﬁqﬁﬂﬁmﬂx%?

1 A-foerd @ - @ - @ T et
Micronsetup a:

(1)  Fabrication plant (2 AnATP plant

(3) A semiconductor plant (4)  Anengineering college

e 3 e 3 @ fid e e 2

(1) o (Hfrpee) W9 . @ A o HaA

@) e s | (@) SR e

d workforce in the domestic semiconductor sector has been created

The need for additional talented and sk'_;j]le
by : et

A Theapproval given toTa
B.  Micron’s $ 800 million semiconductor plant

ta Group and CG Power for fabrication and ATP plants

C.  Setting up of new Universities

D.  The global supply chain shift centered ar

answer from the options given below :
@ A CandD only

ound chip manufacturing in India

Choose the most appropriate

(1) Aand Bonly
(3) B,CandD only ' 4) A,ﬁan‘dD only
rfdreaet & e 8 4 e YFAHTET o e FRE v e 1 A fra-fe g Sa= TR 2

o e A T A e o o e T = ¥ o e ) R e
B. mmm&;snoﬁf?ﬂmammﬁmw

c = favafaemed s T
e i Ferg fafmion 3 wd-fird S v S Afae s

D.
ﬂ%ﬁqwﬁwﬁfﬁﬁmmmwwm;
(1) A A 7B ) FEEA,C3IRD
@) B CAD @) a A, B IR D
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